® 100°

@ 72°

@ 180°

@ 90°

D 120°



oh oA A A o A4 1 Afelo] A2 & Tatole




3. o3 I"ofA «x 9 2712

T+10°

® 35° @ 40° ® 45° @ 50° ® 55°



4. e TONA s+ 2y O] LS Fatolt.




oh TN X1y = 22305 Ll Al 2 FOlA 1 2
Zto] A71=7

@® 18 @ 30 ® 36 @ 48 ® 50



6. THe 1A Lx o] 2718 Fololat,

2T+40° 41-20°



7. S aFEoA sx 9 A7)=?

@® 20° @ 25° ® 30° @ 35° ® 40°






9. o2 I"A LAO0C 9] 272

D 90° ® 100° @ 105° BN\ a0,

@ 110° ® 120°




10. o2 I"8oM x°:y°:2°=2:3:4 Q4 o, x 9 3 5tz




11. o3 2"NA 2x & 2712

@® 20° @ 25° ® 30° @ 35° ® 40°



12.

e 2™olA 2x o] 2717

@® 30° @ 35° ® 40°

@ 45°

® 50°



13. o= ™A 2y - 2x 9 G277

A

45°

@® 50° @ 60° ® 70° @ 80° ® 90°



L

Jd o

2} 0] SN HA L m, n. o0, p 7 e HAA W 1) 71
A2k BT A1 Ffoler,




15. o3 2el4 AB 7} CD o] 58015249 0, ok 3 &7 ke

AL
Ae
¢ o D
Be
H7]
@) ABLCD

© CD = AB 9] Z=Alo|t},
© <AOD &= 90° o]t}
® A0 = OB ot}.

® 4 A A olet Anh,

60,60 206 006 ®66 066



16. o= 1™HOA 2y 9] 27|15 Fstofzt,




17. 10 749 A2 ThE A 40| 3 4
9 Q17 FotAl L.

YR ¥



